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(A) TET (B) EUNTE
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The “Prayaga Prashasti” had been
composed %y whom  among the
following in Sanskrit ?

gA; Harishena gB;
C

Bhavabhuti (D
f=afafea ®

Banabhatta
Baudhayana
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(C) SR H (D)
Which of the following is the largest salt
water Ia%(:(oln lake situated at the Eastern

coast of India ?
A) The Kolleru Lake
The Panchbhadra Salt Lake
C) The Lonar Crater Lake '
The Chilika Lake

w3 T ey T & P s g 7
(A) wS (B) ®E

yo) T@ (D).
The white light is composed of how
many colours ?

(A) Five (B) Six
_ (C) Seven (D) Eight -
4 et ds AetRea d A R s e
R e ? A
(A) e b (B) SRR
©) (D)

The Great Barrier Reef is located at the
coast of which of the following countries ?
%A; South Africa gB) Indonesia

C) Australia D) Philippines

5, frfifgg & § 9 1946 T WRa i

HfuT aaT & EE ¥ 7
(A) TG TS T

(B) SETELEITS! E®
QY . .31, T

(D) . Toig y4TG
Who among the following was the
President of the Constituent Assembly of
India in 1946 ? >

A) Sardar Vallabhbhai Pate

B) Jawaharlal Nehru

C) Dr. B.R. Ambedkar

D) Dr. Rajendra Prasad

R FBN PEDLNDE P, O PETLNOF V6 P PITLN VIV &, o PIINTL VR COKN PWTHN IV TON PRI A T VR BN WA

FK-3

6.

o fpa wew 4 wfad

Tl Th

giepfen wrAFET 2 7

( ,Q/() ‘ faram

(B) #A#H
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The Sonepur Cattle Fair is a cultural
event held at which of the following
states of India every year 7

(A) Bihar (B) Assam

(C) Sikkim (D) Odisha

FYRpE A AT 7

(A) FlHe (B) Tfme=t
() F@wet (D) TFeR

The cultivation, growing and harvesting
of grapes is known as which of the

following ?

(A) Sericulture
(©) Viticulturc

(B) Pisciculture
(D) Horticulture

derfee Y vRIeAl 9 & FES Wl TE
R # | e @ Y@ WA 5
frafea § e fra Ta § a3 7

(A) BT
(C) &

(B) diHeHTg
(D) HARH

" The Bailadila hills look like the hump of
an ox. This range of hills is situated in
which of the following states of India ?

(A) Chhattisgarh (B) Tamil Nadu

- (C) Kerala

(D) Karnataka

i s gu i aE s &

Tt e gRT SfieiehT WRA & ST EIaT | 7
A I faft 9 e

(B) U STETSHEHET 3R H= I T

©

HHEL STASHEAE

(D) fFT SeTEEERE
Sri Lanka is separated from India by a
narrow channel of sea formed by which

of the following ?

(A) The Eight Degree Channel

(B) The Palk Strait and the Gulf of
Mannar T

(C) The Makassar Strait X

(D) The Strait of Messina 2
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“Kumarasambhavam” is the literary

work of which of the following writers 7
(A) Kalhan

GRET Ete

(B) Bharavi

(C) Mahakavi Kalidasa

(D) Mahadevi

“fove T Rew” wow 98 iy §
| e fem o g 7

(A) 233} (B) 5 M

(C) 73w (D) 2593

“World Book Day” is celebrated on
which of the following day every year ?

(A) 23" April (B) 5% June

(C) 7™ April (D) 25 June
ﬁqfﬁaaﬁ%%am%gs%@ﬁ
TR A T e R # v e
WTTFﬁ% F‘ﬁﬁmgﬁ%ﬁﬁﬁﬁmm
?

(A) ToE (B) FAles

©C) Tom=aEww D) *=
The parts of which of the followin

states had evolved a local system o

canal irrigation called kulhs over four
hundred years ago ?

(A) Gujarat

(B) Karnataka

(C) Himachal Pradesh
(D) Kerala

w;ﬁwmm%%qaﬁaqaﬁ?
q18 ? .

(A)  SATVET STfrRT

(B) WERIER 3R FTvMT 3t s
(C) Iu-mERfsrgR

(D) st a1 Frgres

What is the highest post for Census

Organisation in India ?

(A) Census Officer

(B) Registrar  General
Commissioner, India

(C) Deputy Registrar General

(D)  Sr. Technical Director
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(A)
(€)

BEtiEay) (B) wfafm s
sMufrefirm (D) orefrrm

The increase in the proportion population
of a country who live in urban areas is

(A)
(B)
(€)
(D)

known as which of the following 7

Urbanisation

Unplanned Development
Colonisation

Rustication

T Tefifrm S Rafe (NALCO)

N el FEew Frefafas § § fg
AR ?

(A)
(B)
©
(D)

T, 3T
femang, amw
EAYeR, Ffem
TR, TiETg

National Aluminium Company Limited
(NALCO) is having its registered office
at which of the following places ?

(A)
(B)
©)
(D)

Noonmati, Assam
Digboi, Assam
Bhubaneshwar, Qdisha
Raipur, Chhattisgarh

ﬁsawmém(WHO)wg,@m

Frfafen 3§ 4 frr e fRE e 7

(A)
AB)

RTEd, fiows
Foran, faeeets

(C) wEew, sfcsmam

(D)
The

i, wig
headquarters of World Health

Organisation (WHO) is located at which
of the following places ?

(A)
(B)
©)
(D)

Amsterdam, Netherlands
Geneva, Switzerland
Brussels, Belgium

Paris, France
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(A) Q?_ SEED !
(C) I (D) foes )
Which of the following socm! n]cdhi
platforms is best suited for professiona
networking and job hunting ?

(A) Facebook (B) Snapchat

(C) Instagram (D) Linkedin

18, v e e Frfertea 1 @ e

Fearh RuaRig? ?
(A) el A

(C) W

(D) =wehiet gl & e

Bhadohi that is located in Uttar Pradesh is
famous for which of the following art ?
(A) Carpet weaving

(B) Chikankari

(C) Saree weaving

(D) Glazed pottery

1o, freffEn § & W T Fo€ 3301 4

g g ?
(A) ¥ «B) =TT
C) == (D) =&

Which of the following is the state tree
of Uttar Pradesh ?

(A) Ashoka (B) Banyan

(©) 0ak (D) Bamboo

IR 37 32 & F HE warh v ot 3my
%,mm%ﬁm%féﬁﬁ%%aﬁiﬁﬁ
Rme 7 ;

(A) aferan (B) T

(C) gy (D) T FHAR TR

S;lrha Taal is the famous'sanctuary that
g S0 receives many migratory birds from
iberia and other colder regjons, is

located at which of i
districts of Uttar Pradesh ?the tollowing
(A) Ballia

(B) Etah

(©) Gonda

(D) SantKabir Nagar

HCEVR o pigegy,
PSSV PANPIDLINTOVA ipen pocics,

8 N Lo
DIVR e O YR SRR PENTN IV A
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. (A) Lord Shiva

23.

24,

"Banaras Hindu University was founded by
Pandit Madan Mohan Malaviya with
cooperation of whom among the following ?
(A) - Sardar Vallabhbhai Patel
(B) Rabindranath Tagore
(C) Madam Bhikaiji Cama
(D) Dr. Annie Besant

wy Frafafaa § & feadht S=rae 2
R S TE A RS S 7

(A) wEHARE (B) WTEHEF
(C) WEETIS (D) WEHEIH
Mathura is the birthplace of whom
among the following that is also known

as Brij Bhoomi ? G-
_ (B) Lord Krishna
(C) Lord Ganesha:(D) Lord Rama

IR 1 Heherl Frferiaa § F form wm
wfemty

@) R (B) R

(©) == (D) T

Akbar’s mausoleum is located at which
of the following places ?

(A) Sikandara (B) Rampur

(C©) Unnao (D) Etah
Fre=feRen § & sow Ry w9 @ g
Wk TR U SR Tes 6 odt > IR
GRS ‘

(A) <Rgpem (B) WwEm

(C) T = (D) o

Which among the following well-known
folls dance of Uttar Pradesh is performed
during paddy and maize cultivation ?

(A) Charkula (B) Rasiya

(©) Hurka Baul (D) Kajri
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(A) Y (Holding)
(B) =T (Grove Land)

(C) Ffy i (Agricultural Land)

D) (Consolidated)

A parcel of land held under one tenure or
one lease, engagement or grant is known
as which of the following according to
Uttar Pradesh Revenue Code, 2006 ?

(A) Holding

(B) Grove Land

(C) Agricultural Land

(D) Consolidated

26. IHTHGHTE (UPSSF) 1 1 71 Famd |
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i
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PO P PRI TV PO SN DI V6 WS PIILNT VL S P o,

(A) S YW Wve Rt wid

(B) I wew Hifers R wid

(C)" ST ¥eW Hivret faaifedt wid

(D) IR YW WA i wid

Give full form of UPSSF.

(A) Uttar Pradesh Special Security Force

(B) Uttar Pradesh Solid Security Force
(C) Uttar Pradesh Social Security Force

(D) Uttar Pradesh Social Source Force

T fim dEme R oy ¥

frfafEr i A e s wal 7
(A) I (B) T
(C) ToTa (D) r&m

Nivesh Mitra Mobile application is an

initiative of which of the following states
of India ? '

(A) Uttar Pradesh (B) Telangana

(C) Gujarat (D) Assam
ﬁ'ﬁﬁmﬁﬁﬁmﬁﬁmwﬁtﬁ
ST ST 7 )

(A) 7T (B) ig mg1 e
(C) e (D) e

Demonetisation is also known b hi
of the following names ? Yy Whigh
(A) New Currency (B) No Currenc
(C) Cashless = (D) Note Bap d

L X CUSRN
O P ey [N U PN KT ANV PN PR YA PRSP
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AR AR P e & o

(A) TS A Dt ot ph e 5
Uik ok ¥
Aundt w92 299 Ffer m g &
HZA A K U wE, f o
ARA AV FAAT 2 e,
I I T B |
HNHE v, T vt w3
HNHE wFA TIEA F A o F
U AT I A afEm
Which of the following sentences is not
correct for GST ?

(A) There are multiple levies of tax on
goods and services.

(B) GST is a comprehensive levy and

collection on both goods and

services at the same rate with

benefit of input tax credit or

subtraction of value.

GST is a destination-based tax.
GST is a common law and
procedure throughout the country
under single administration.

3-iw # WEHE 9 S99 gt -111?
wﬁ%%qdéavﬂammg K-
W, TEEE 3R e F1E fymw af
H T A T HEAMTE ?

JA) TSR (Phishing)

(B)

©)
(D)

(C)
(D)

(B) i (Cheating)

©) (Losing)

(D) (Sourcing)

An attempt to obtain sensitive

information such as usename, password
and credit card details etc. for malicious
reasons, by posing as a trustworthy
source In e-mail is called as

(A) Phishing (B) Cheating

(C) Losing (D) Sourcing
“zm” Ffafga A A e o R gR 2
(1) W @ ™

) LIS (D) WS

«Taka" is the currency of which of the
following countries ? |

Serbia (B) Turkey
©) Bangladesh (D) Thailand

Yo P MO TRV ARSI TN SASMNTEN Terny
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U IaareE HutEl b3 Crocil
Sferegeft s dar @ % for A FE Bg
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(A) BT T

(B) &HHEq JEHI

(C) e gTET

(D) T MUTE T JEHT

Which of the following awards is given
to motivate Cooperative and Milk
producer Companies to grow and to
instill competitive spirit ?

(A) Dronacharya Award

(B) Dhyanchand Award

(C) Arjuna Award

(D) National Gopal Ratna Award

frafaRea 4 @ = a1 9gume F9, o
HfRm

(A) WA SR

(B) ETETTS! 46& SeUTTe

(C) UG T8

(D) SN HEUE (GG SEUTIE)
Which of the following ports is located
in Kuchchh, Gujarat ?

(A) Mormugao Port

(B) The Jawaharlal Nehru Port

(C) Paradwip Port

(D) Kandla Port (Deendayal Port)

T @ °, ot arfa g A fafefaa @ @
fFa wm W TwAE sawke S=d
HEH AT 3fEa (NCDFI) % q&aTed i
3R W R 7

(A) THAR (B) wTee

(C) “EAX (D) 3vig
Recently, Shri Amit Shah has laid the
foundation-stone of the headquarters of

National Cooperative Dairy Federation

of India (NCDFI) at which of the
following places ?

(A) Gandhinagar (B) Bengaluru
(C) Jaipur (D) Anand

PN PEINTF VPO P SEILNTS Ve AR WSVL NIV 2, posi o, ma VA TN PN AT Vel 0 P
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A) MTGTD(B) o i e
(C) L. UH. SR (D) A Tty fioig
Who amon the fol]owing has
iSnal;lguri_ltcd Oo‘t:h"l[aalfjggadwecp Islands
ubmarine_ Optical Fiber C i
KLI-SOFC) recently ? % ESRectin
A) Shri Narendra Modi
B) Shri Amit Shah

C) Dr. S. Jaishankar
D) Shri Rajnath Singh

dad qbsd 4 g@ A § wyma @in

frafafd @ & frm 3o % i v i

Tferefieran wwEiid i T 42 7

(A) T (B) #rtH

() 3 (D) A

The Union Cabinet has recently
approved the Migration and Mobility
Agreement between India and which of
the following countries 7

A} Nepal gB) Sri Lanka

EC Italy D) Germany

B & 8, W 81 1 R 31F F

AT w0 fefatea 9 @ fvg ==

WUEAT R 7

(A) RS SEUTE, Arered

(B) S et 1 WS, LU,

(C) e, ATerdte

(D) Wi, e

Recently, Indian Navy’s Fast Attack

Craft INS Kabra has arrived at which of
the following places ?
A) Matarbari Port, Bangladesh
B) Port of Jebel Ali, U.A.E.
C) Male, Maldives
D) Colombo, Sri Lanka

frefafen & @ @ med fagmam &
TGS o7 7

(A) HIgwTg 3reft e
(B) WIS THIE &
(C) wewdm dgall

(D) @A THER @H

Who among the following was  the
founder of ?hge Khudai Khidmatgars ?
Mohammad Ali Jinnah
g Il;/[%llané“A'zfr‘db'i
adruddin Tya0blt .,
Khan Abdul)éia ar Khan
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€ 13 (D) 16

frfafen # @ Ree sreier & g o &1
B AR R 7
(A) vy

(C) e
Fraferfea & &
e e i 2 7

(B) 3umr
(D) Iu=

VI5E HT IhTff IIag

) =S

© den . (D) fiwan

PO P ST o

tore ¥ 5 ]
FK.3 PENPSTLA CIVE AXS PIULNDEY £ PO g o2 PN PEITHNTI VR NI POLN TRV GABN PAPEE N T Ve NN IATIE T 5 AN PR TRVA NN PRI T v AU PV

6S.

66.

fereafeafiea e H1 T B M e 3
FAARIT : (7. F. 65-69)
Wmmﬁﬁ-ﬁ!ﬁmz}
T W | T G R UF e
wofom 7% % R undm w3
HFTAR AEA T3 At £ 5
yed it fervaferarert # yrg: aaem B 4
AN 318 AT ¥ I AE W Em ==
® € | T 3R & Iy v F dmm
Fael U IR Aufeh et 4 7 7
&, afes 7t Forora firm, =, 220fm,
7 3R I % Tt F e &
T ¢ Fih 7 aft 21 & @
el a8l & 3Tcaa gfvrfaa dm diaza €|
Hae ™ & & e T o H
qurmia it wgea 3R wm:
TSl | AR quThie 9= fifee ggeE
FS TG 9181 B, I8 S § & I T

R, T5i 7 T 39! Hfaar 3R svaE ve

H g i S 6 B SR I
o & T @ e & ik I g
# w1 @ T At s TR & =z R

AU 1 9 @ I9% HEINTE I IR

FEE fFg A TR A RE |

Juge ¥ides g - ~
(A) WRA 6 e &?‘
(B) Wy frferai Y qraeen MBS
(C) W frféral =1 sidsh-wig
D) R St i gém

W Sr@eh! ! frera @O & wife

(A) 9 37wy § fore e @ |

(B) & TG W F W ! TFH AW
TS T ETA-ATA T8 T qHa |

@%MWWWWW

g e O |

(D) ITH! TR W TE F TS TH-
Ty Tt A |
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67 @Rﬁ\u ] g xTi y P

W93 & QdEdh o
e =N, antl, e %
Fifep-
(A) 379 Ty & wfa e il 8
(B) a3 Hmgamat |
(C) 3% wifer =) v o A ugn sy |
\9» I wifgm &1 v & gl e

H lim, J{i‘rﬂq
RCCORIRIFUEES

TR US|
68. W &1 gitfirg v w1 Wil vgeEm
IR B @R 7 .
(A f&d By 3
(©) (D) WRdE
69. YR Wit & wifged & wfa @O &
frg ot d sy e g ?
) S= giﬁiiﬁaa
b'%é) UG %))/rmamﬂ
70. ‘HEUER fRadl s HT TR R ?
(A) YTEg (B) Tel=AT &R
(C) TR edi (D) THEg &
71, Hivars feaeh R i 7
(A) "aFMeE  (B) A IHRM
(C) HaEHE (D) Hd THATA
72. Tratafga § @ = @ o ofveh & &
Heu@die 7 -
(A) ToRaE  (B) WWGd
(C) =& ‘(Q)/amﬁ
73. frafafgs § 4 98 ®F | THR A
Hiferaree Brnfasmu g ?
(a) faftmus  (B) Feegsus
(C) ¥wa=® (D)
74, Trafafed # @ A% WeE H wEEaET
TLZHATATE ?
(A) w4 (B) Tt
(C) R Py
75, ‘Huiy glogu-frmds W w1 AE
af-te e d A AR ?
Ay aea-3aq. (B) I - 9ed
(C) ¥gel -Sffed (§) I - S
6. ‘e i STRrE HA & R & fay
&2 1 TG HIfT |
(A) ThH (B) TRt
(©) e (D) iRt
o
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78.

P N

79.

81.

82.

U, (T ) 119 A forafaa AT |9 I
A Xy wfe gi 17 A Srafam fe A
e N A g | ’
A number when divided b ]

whe e 19, leaves
I‘{ as remainder, If it 15 di')/{dcd )l")'j‘ 147/cit
will leave a remainder '
(A) 1 (B)y2 (C)3
awAwt, 280X
36,072
” : 17.28 + x
Simplify : = =

3.6-072

(A) 10 _(B) 12 (C)14 (D) 15
frafafaa admm @ v=hmm ()% =5
q{ 91 HATUI 7

What will replace the question mark (7)

in the following equation ?
5072.19 + 368.312 + (?) = 9018.618

A) 3571.116 “¢B) .3578.112
g 3571115 (B) 3578116

(D) 4

HE@d 13 :9 F Hgaa 3 2 | FE T
HCF 13 2, q1 91 %41 3 1140 |
Two numbers are in the ratio of 13 : 9. If
their HCF is 13, then find the largest number.
(A) 52 (B) 169 (S1'117 (D) 143
Ug SN HEAFI I 2:3F FFEE2 |
Tfe S % 9 § T 2,000 1 grg A 2
Al AT 3T 40 : 57 B 0T @ | WEH H=
JAAH A TR ?
Salaries of Rohan and Soham are i the
ratio 2 : 3. If the salary of each is increased
by ¥ 2,000, the new ratio becomes 40 : 57.
What is Soham’s present salary ?
(A) 17,000 (BY 320,000
(C) 25,500 (D) 34,000
frdt T 3, 20% BF 10 WA FH AG S 2 |

10 9§ Y 31 1Y & OF S TS 10T R
o ¥ o g, A R A W R
Tt 3 Tl <6 et w1 R 2

In a certain school, 20% of students are

below 10 years of age. The number of
)

students above 10 years of age is — of
5

the number of students of 10 years age
which is 48, What is the total number of

studentsin the school ?
80 (B)90 (C) 100 (D) 110

TRV SO ORI A TRV S (S G,
PN AT VA AN AL TV AN RN v
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s g o g e A A
vq B 2w A g ofR B 10%
3

< i et & 1 3 P A SR
T T |

An article is sold at a certain price. By

selling it at % of that price one loses

10%. Find the gain percent at original -

\y;,b

price.

A)  25% 30%
C) 35% (D) 38%
TH | W 3 a9
T 4,460 31 6 I TG T 6,690 B WA 2 |
FFITE AT T i |

A sum of money amounts to ¥ 4,460
after 3 years and to < 6,690 after 6 years
on compound . interest. Find
approximate sum. _

(A) 297333 N\B) T3,121.66
(C) %3,11533 (D) T2,991.66

9 @8R P, Q 3R R T% SHO6N I&
FW & | P A Eh # G, Q F ot %
& T % T § 3 Q it o, R A
Usft & WR T 6 FUe R | 9 % ia f
327,500 F FATIH AR % e 2 ;
Three partners P, Q and R start a
business. Twice P’s capital is equal to
thrice Q’s capital and Q’s capital is equal
to four times R’s capital. Out of total
profit of ¥ 27,500 at the end of the year,
R’s share is :

(A) 7,000 B) T2,500

©) %5,000 (D) 15,000

BF 9IS F1 399 3.75 R | I A QA A
aﬁm&zf&, SR 31 & #7 3ftEa 3.55
& 1 3 & st 1 afwa w7

€ average of six numbers is 3.75. The
average of two of them is 3.2, while the
average of other two is 3.55, What is the
average of the remaining two numbers ?
(A) 4.3 B) 4.4
©) 4.5 (D) 4:6

the
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87.

AC) 28

88.

89.

90.

4 TBF 3N 6 ASfRat TF Fm H1 10 fei
i o g & TEH 6 TgH AN 4 Tt
aft % A 8 fet d F awa # | 4 T
afvt 2 wrgferal 3@ m w1 fre feat & o
HHEH § 7

4 boys and 6 girls can do a piece of work
in 10 days while 6 boys and 4 girls can

do the same work in 8 days. In how

many days can 4 boys and 2 girls do the

work ?
(A) 25/2 (B) 27/2

(D) 30

3TFA 26, 20, 14, 8, ... F1 2191 92 31
Hife |

Find the 21% terrﬁ of the sequence 26, 20,
14,8, ........ .

(A) 146 (B) —-94
(C) -100 (D) 88

JATHR AeM 1 S 13.86 TRH 2 |
¥ 3.2 W et it 0 & 391 =18 & S
ST T HIRT | (1 3R = 10,000 m?)

- The area of circular field is 13.86

hectares. Find the cost of fencing it at the
rate of < 3.2 per metre.

(1 hectare = 10,000 m?2)
(A) T4,224 (B) 5,138
(C) ¥5,808 D) ¥6,132

T TeH 9 el /der 9 wfy F 25 W
ST 9T G SR fgH % IR 3R 38t
T fere g @ 2

How long will a boy take to run ro
square field of side 25 metres, if he
at the rate of 9 km/hr ?
(A) 38 QFS/sec. (B) 40 HHI/sec.
(C) 42 ¥FS/sec. (D) 48 UHS/sec.

h

CL TR . . :
VI Pl x| - i 3 g .Y et A AN SR AR
- PEVLHNOIV 52w, poosimren VIV Fe P WIHNOI VR FBNPILN T VR 0ON PIULN TS Vol AN PASREA TV P R T P A PR R T
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. . 919 95 : g 7T 1 R T 4y
SHeh IR Ty 3 I |
Q. Nos. 91 to 95 : Study the bar grapp
and answer the questions based on it,

o =T & sy Ty W I (@ ),

Production of Mabile by company (In Lakhs) over the year,

e s sttt

(=
(=1

3
l

H A
o o

o O
P

I (T H)/

Production (in Lakhs)

[

2001 2002

20032004 2005 2006 - 2007

!\'6.

2008
/Years

ﬁ)@b@\
pre

o
[y

2003 ¥ 2004 % WEEA & ST
TG Sferwra frrae = ot 7

What was the approximate percentage
decline in the production of mobile from
2003 to 2004 ?

(A) 21%, (B} 23% (C) 27% (D) 29%

92. 2005 R 2006 H A I
Tafafes § @ frg ovf & IR ¥ sfmm
o SeTeA < fererge st e ¢
'4"1";5'5 The average production of 2005 and
glts 2006 was exactly equal to the average
production of which of the following
p pairs of years ?
A {A) 2006 37 /and 2007
o < (B)—2004 37 / and 2005

(C) 2004 3R / and 2006
D) 2002 3R/ and 2007
93.
# argmTira Wi gig = ot ?
What was the approximate. percentage

increase in production of mobile in 2008
compared to that in 2001 ?

A) 166.67% B) 183.33%
gc% 195% 5 200% -

94, feumuawid® H HiET5el 1 Iared
few o st o 3Tea SARA | s o 7

In how many of the given years was the
production of mobiles more than the

average production of the given years ?
(A) 1

B)2 «€y3 (D)4
95, T ad o fywer o i gormn § Saureq
gfera gfg tfereman ot 7 |

In which year was the percentage
increase in production as compared to
the previous year the maximum ?

(A 2002 (B) 2003
‘/%cg 2005 (D) 2007

2001 <1 gewT # 2008 ﬁrhm%am '98.;'

97.

99.

(B3

9% A i i e e R
IR ST a0 A T R .

uafer, ufeEm, et

Choose the Venn diagram which best
explains relationship among given :
Husband, Family, Wife

(A) (B) OO
0 Q) o

feq ¢ fom & Rk P == A
ST 2, AT I SATRTAT 1 €Il § 3R
I TR T T ], A I TR BT G
T & N = AR gg T E 7

In the given figure if Triangle represents
healthy people, Rectangle represents old
persons and Circle represents men, then

what is the number of those men who are
healthy but not old ?

(A) 3 B)S (©)6 (D)8 58
afe <+ o ol W R, o wr I R, o

‘x* T 378 TeTa B 3R ‘—’waﬁaﬁs%,a‘lﬁ
63x24+8+4+2-3=97 ' i
If ‘+’ stands for division, ‘+’ stands fi

o)
multiplication, ‘x’ stands for subtracﬁo@
and ‘-’ stands for addition, then e

63x24+8+4+2—-3=29
B)60 (C)61 (D) 63

= fopedt § @ & w Il 00 =
gusfag |

Choose the correct mirror image of the
given figure (X) from amongst the four

@L

alternatives,
G,

S

o pITLNCETE FENVITLNTITS A PETLNTS T PEH PINLNOITL PENPIOLNTRTT & COH PAWLHN VR NOKN PSITHTYY K NON DL TVl RO w8 TRV AORNPITEATET nxs,
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- %, JF 107, ) faw o, 9% ¥ OF FA A 30 e |

1““'wmm§;1§ﬁﬁﬁfﬁmﬁm b 11, 111 3 1V FEIHRS A0 A e g
g?ﬁmﬁmmﬂﬁw‘" o m‘ « .Wmmﬁmﬁﬁﬂﬂq_q]/g?%
g R | TS | d is ’mg’ wh; #/8 3 B /A Fn
In the following question, one Wot e #/# o qEHN I F f fy N

iven. followed by four words, o€ B

gl formed using the letters frepeat # & AT ITCHA | L
Which cannol ord. Find that word. F ;T @ B W il A
ADMINISTRATION N FEZ{R F =17 7
A) MIND B;/ STATIO s
ic; RATION *{D MINISTER : < ’
101, 37 1 < g & T e e H fe L& | 388 P ¥ e vd wém
@ T TR QU ? i |
R TS §9 kY :
Which _one _ set, of thgett:;ss Bl . & | 98 3 faver o dan &
i ced a £ il
;eiggﬂgt%}a! seprigs shall compFete it ? AT A EW EREIE R e
aAd_an_n_rgr?r_a_d m_n o SEMRATR | .
nmaadna nma Fragetrs )
B mnadmna f%% nmadnan . 7 | §ﬁma§z1 it
fedl 3§ @ 98 9 e o & o7 ! HTIHA T 2 | 7 3w
102. feu T B e
piclba Skl MR T
1 hoose E&L correct alternative from IV. & |8 3=a @ e &3 8 g7
4 . ]
\? given ones that will comﬁ})lete the series. FQ 8, O UG HE B a1 |
8,23, 38,33, 68, (7) A 2
(A) 78 83 (C)85 (D) 87 ) RS CRN
103, WX :Hig: : @ : (2) (B) e [ I 7rq € |
K T B (C) <hae I 3R Il 7ie & |
(B) TIgen
©) fa= D) @i (D) <haret 11 3 1T Horeqe & |
Lion : Den : : Rabbit : (?) Question given below consists of a
EA; Hole gB Pit statement, followed by four arguments
C) Burrow D) Trench, . X numbered I, II, 11T and IV. You have to
. BPMN:CQNO :: GTPL: (7). @H" decide which of the argument(s) is/are
© BN B RIS Strong” argument(s) and which isire
1 D) EUQ weak’ argument(s) and accordingly
05. fFr=fefaq 3fa ﬁﬁ»‘cﬁﬁgq-g choose your answer from the alternatives
How man trian

gles are there in the |: %‘ven below the question -

tatement Should India go in for
computerization in all possible

followmg 1gure ?

sectors ?

f&rgu$ents:

- es. It will bring efficiency and
(A) 8 )10 © 12 (D) 14 accuracy in the work. ’

106. T S feam 3 o Foct 3 fm . No. It will be an injustice to the
maﬁ‘m% 34 fornh 9eTdl 7, 3 monumental human resources
T 3R o e, T E I Which are at present underutilized.
3 ard %?ﬁm ol 8, T L T:t?. Compute{’izati}c‘m cllsmands a lot

. 4 SRl money. We should not waste
AT iy & ferf gl v Honeyonit. _
A person moves + Yes. When advanced countries are

. 21
In n g : : n RRE )
km, theﬂstums leﬁdangrg}ové?ﬁﬁn b)i Introducing computers in  every
an

- ﬁeld, 1 ord t o
again turns left and Moves by 10 _km, behin(;\ow can India aftord to lag
ar the persor ;< po MOVes by 4'km. How A) Oy -

15 from injtja| osition ? B y L is strong. NI
ci :

1 Ty
a»m.;(ff.) 9%tﬁ@klmn ) 4 /4 Jan Only I and 111 are strong.

PR ol (D) 14 fepfl/14 km Only IT and 111 are strong.

AN IAOL \ migpc oy AN T VR SN PR NTPYE TANPIUL AT VL PAN pew Vi e ATV R AN PIRE ATV AN RN T TR
Deve B R ;

TOPPER CHOICE BATCH: “ MATHS Vb BATCH’ — CONTACT — 8506003399 8]
—
DOWNLOAD “RG VIKRAMJEET” APP TO ENROLL =

nly I and II are strong.

Scanned with CamScanner



"

Join @MathsbyAdityaRanjan Telegram Channel for free PDFs of study materials and latest exam updates

108. = feu T wy 1 e HUA 3ﬂ‘§“‘¢iﬁm;|
3R 11 Fowifen @) el T ® 1 sy
we 3 Frefafad 9RO W R
T 2 3R foly @ B 6 W o
yroon(¥) HuF 1 afafifed /8 |
FYT ; 27 9T F Hoard A MR Faw 5y
gt {4 | _
aROTE : 1. S 27 re e HREH F @y

ﬁ: & qpafer &4 |
' II. Tgafy &1 & T S

T AR R |
(A) ae yRo | sfafifEa g |
(B) ael YRoT 1] FaHRd g |
(C) A I3 aHRaz |
D) T AR T 11 AR R |

In the question below a statement
followed by two assumptions numbered I
and Il is given. You have to consider the
statement and the following assumptions
and decide which of the assumption(s)
is/are implicit in the statement.

Statement : Imprisonment for 27 years
made Mihir Kalal the President.

Assumptions :

I.  One who will be imprisoned for 27
years will become the President.

II. To  become . the President

_ imprisonment is a qualification.

(A) Only assumption I is implicit.

(B) Only assumption II is implicit.

(C) Either I or Il is implicit.

(D) Neither I nor II is implicit.

% F. 109 ¥ 113 : foreft Wam § et ot &
=7 % fore frafafea amee §

Iafiear - :
(1) :@mﬁS%aiﬁ%mma‘mﬁﬁém{a
ol a1 wrEiY BT W |
£2) 75 qlen F =W ¥ = 500

fRa gt
3) ;mwﬁmﬁmm%aﬁmﬁﬁa
|
(4) I 3T 1-10-2005 i 2] 3§
AR e Nl LE

PONPRIINTETR G p STEATIFA AXS PRTL N TIPS S, VI oy

IF I

N ‘i . s N Y
L TP WOV g oy iy A SV AR AT
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0t Feflear % et § 51 S At g 5

wTen ®, faamy

A. 390 (1) #, AT 70% T F ava v
selag it it 2, @ 9men Sy, v
! W1 S HFAT 2 |

B. 39 (2) #, Aftr fen vnfem % =g
U M KT T FA Y FH 2 A F A9
8, < " srena, wdf afufa 5 g =
bl g |
A AHHR € T 2 | ATIH] ST A
3R Wt &% def o gae ferweray w2
3 fm 3 iarE 9a =& 2l | A
& TS BRI % el 8 Mt TE g
® 1 ft wHR Sl 1-10-2005 i

feufe < sran fegmu & |
Q. Nos. 109 to 113 : Following are the criteria

for selection of computer professionals in an

organisation :

The candidate must —

(I) -be a Computer Engineer or MCA with
first class having minimum 65% marks.

(2) hbave secured at least 50% marks in the
Selection Test.

(3) have secured at least 40% marks in the
Interview.

(4) not be less than 21 years and not more
than 30 years of age as on 1-10-2005.

In case of candidate who satisfies all other

criteria, except :

A. At (1) above, but is an Electronics
Engineer with 70% marks, the case may
be referred to the GM, Recruitment.

B. At (2) above, but is having at least

2 years’ experience of working as a
Systems Analyst, the case may be
referred to the Chairman, Recruitment
Commiittee.
In each of the following question,
information about one candidate is given,
You have to analyse it with reference to
the above criteria and condition and then
decide the appropriate course of action,
You are not to assume anything other
than the given information. All these
cases are given to you as on 1-10-2005.

AL I AT A TR AR AT TN SV PORIA T VRN SO I T AT va
n
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109. €517 75% il % ary ue fufae S

2 | 31 T 6 T, 1976 I G M |
S5} = g A 70% 37 N HATHR
¥ 429% 3f% W |
(A) Afe Iufican &1 934 fpm e R |
&u& Iafiean &1 =99 TE R S
21
() afe wrwen avew, weff wfufa H WS
IR |
(D) &R wre S, Wl B A IR |
Sanjay is a Civil Engineer with 75%
marks. He was born on 6™ July, 1976. He
scored 70% marks in the Selection Test
and 42% marks in the Interview.
(A) Ifthe candidate is to be selected.
(B) Ifthe candidate is not to be selected.
(C) 1If the case is to be referred to the
Chairman, Recruitment Committee.
(D)

If the case is to be referred to the
GM, Recruitment. '“

110. TS 97 3 1998 # 22 HreA <l IW H 70%
31 & 9Ty WHEIT fohar | I HIETERR
T 55% 3 IR =99 qhen | 55% I
T fRT | 98 1999 § YIUTR % &4 ¥
IS Hut | wier g ok fewt
2002 % e wATferee % &9 # vei=rd g |
(A) afe Iufiean =1 wa7 P AT R |
(B) 3f Infican =1 <= T Rpar w1 R |
mﬁn%mma,wﬁaﬁwﬁfﬁﬁm

Eicik A

afe A S, sl Y S SR |
Modi Jay did MCA in 1998 with 70%
marks at the age of 22 years. He scored
35% marks in Interview and 55% marks
in the Selection Test. He joined an IIT
company in 1999 as programmer and got
promoted as Systems Analyst in
December 2002.
(A) Ifthe candidate is to be selected.
(B) Ifthe candidate is not to be selected.
(C) If the case is to be referred to the
55 Chairman, Recruitment Committee.

If the case is to be referred to the
i GM, Recruitment,
FK-3

111, 3ifpa 3 dogeft (3$d) 1 80% 3% 3k
ya e shfraftn 1§ 78y, 7@ gma feu |
I gl 3 ATEATHRR § I HAF FHI:
55% 3t 60% % | a® 2001 ¥ faem
Ut &% w9 0 w5 w1 § | I
=ty 19 3194, 1980 2 |
(A) 3fe Iefigan #1953 fra I 2 |
(B) ufe Iufigan &1 w97 7#f foran s

?*q

i

kl

2l
(C) afe umwen 1eas, wdi afufe =1 d=n
IR |

(D) afe ammen Siew, woff 1 S AET 2 |
Ankit scored 80% marks in B.Sc. (IT)
and 78% marks in  Electronics
Engineering. His scores at the Selection
Test and the Interview are 55% and 60%
respectively. He has been working as
Systems Analyst since 2001. His date of
birth is 19" April, 1980.
(A) Ifthe candidate is to be selected.
(B) If the candidate is not to be selected.
(C) 1If the case is to be referred to the
Chairman, Recruitment Committee.
(D) If the case is to be referred to the
GM, Recruitment.

fom, w6 Fg@ i, 2003 § 22 99
#1 oy § sifem wden § 72% 3w F A
Iefiol g1 | I\ =T qhEn § 70% I®
3R AR 3 48% 3 e ¥ |
(A) 3 Iafigan w1 =g s R |
(B) afe Iufigar = v T s g |
(C) afe wmen sremyy, wdf affa = S=n
TR
(D) ST IR |
Vijay, a Computer Engineer, passed out
with 72% marks in the final examination
at the age of 22 years in 2003. He
secured 70% marks in the Selection Test
and 48% marks in the Interview.
(A) Ifthe candidate is to be selected.
(B) Ifthe candidate is not to be selected.
(C) If the case is to be referred to the
Chairman, Recruitment Committee.
(D) Data inadequate.

112.

PE ST T Y. s PETLNTE Vo S0 Lo, Dgr - Al ONPEVLNTETE PON PPULNTS Vs NS ST TV PO LA TRV R NN PRI TRV AN AT YR
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fasa1 80% 37t & wr v HUE Tififrn
2 | 380 TETeR afte T T 550,
 afireh 3 Wi oy | IR XYZ Fwef
5 e A afus w7 e Tfaw
FEodHm fFa R |

(A) af Ifigam o = fFan S R |
(B) af sufigar @ = 78 fhan I R |
(C) afe wmwen areay, wdll wfifa @t W

IR |

(D) IR |

Divya is a Computer Engineer with 80%
marks. She scored more than 55% marks
in the Interview and the Selection Test,
She has worked in XYZ company as a
Systems Analyst for more than 5 years.
(A) Ifthe candidate is to be selected.
(B) Ifthe candidate is not to be selected.
(C) If the case is to be referred to the

Chairman, Recruitment Committee.
(D) Data inadequate.

AW TF gform e F &9 F A €,

T R 7 o Iafve g w fhein w

I 1 39 e § 3k wre Rk @

TATE Ll B | TR

(A) B & fau i = frngar w=¢
& foe =e1 =1 o @ =nfee |

(B) Frore graw gfifeaa w0 & R
e = == wifge otk e =
Fora—ferar e =nfe

(C) w@E T At & i e
HEMET 1R |

(D) 3¢ T T9a Iverey & @ ofie =
FRIY i 2fed S =ty |

You are stationed as a police officer, an

agitated crowd at a local fair accuses a

teenager of theft and attempts mob

lynching. You should :

(A) use ﬁ_)rce to arrest the accused for
questioning.

(B) rescue the teenager and disperse
the mob to ensure fair trial.

(C) make the accused confess under
duress.

(D) let the mob punish the accused if
enough proof available.
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‘/gzmmfgm

(D) Trifas FAfEm FEFs 7 ufaEg

=g |

You are stationed as a police officer, you

receive reliable information of preparations

to violently disrupt upcoming local body

elections. You should :

(A) recommend postponing the
electoral process.

(B) conduct preventive detentions to
avoid subversion.

(C) mobilize auxiliary police
augmentation in vulnerable areas.

(D) ban political campaign events and
restrict assembly.

. &M e Sg-uifife soire § gier wga

F FYH, YR

(A F0 B T AMTEGEEE
FHF] ST 91T |

(B) THUH % foTe T mwferst sfvsiat
% T faanatt +Y wega s =R |

(C) ARy Hmd Sies 91 Iusfet
T HRATE AT ST |

(D) HOR & WEH F THE ¥ HHES
g 0 & foe st =t wite
HAT AR |

As head of police in a riot-hit mixed
religious locality, you should :

(A) impose indefinite curfew till
tensions subside. o
(B) table concerns with municipal

authorities for resolution.

(C) act tough on miscreants crossing
community lines.

(D) engage elders to reconcile groups
through dialogue.
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You are stationed as a police officer; to
prevent further cases of card cloning at
ATMs, you should : ]
(A) temporarily disable all ATMs in
the jurisdiction. _

examine ATM machine access logs
for anomalies. _

place one observer each in all ATMs
to identify suspicious accomplices.
purchase  card cloning machine
prototypes to understand methodology.

AT TF 9 AR §; s
T S T T ARG wet § Rk

(B)
©)
(D)

|
) ~IYE TEA1 8T 3R Tererq & qea
(Ea/ﬁmh@&mm?ﬁq?m
© T[T w e ww Ao

" A T 1T |
ou are an Investigatin
Primary accused in 3 VIIg
case s _offeripf. huge
ﬁimpulatmg evidence and influencing
j(A)ges to ensure acquittal. Yoy should :
ggﬁm]y .On records but secretly
®) & ¢ct dialogue against accused.
fooidln uncorrupted and present
©) acts transparently ip, court
Pret@nd to agree gu i
(D)

officer; the
assassination
bribes for

as per your
nal ju%gement.

YITLaT,

e
AN ICTATOY e, e

19, 319 v foma A 1 Higdee

TATIFL AONPMTATTVR ORHPOVERTSVR O ASILNTII VA OO AR ATV S G IS TV AN AR A TR A WINT

16

mumﬁmm@@gﬁm%,
fefiem weasit # wfifq fpm 2
greilfen, U=l i oaft 3 o, oy
T B B 2 S e wie
%ﬁm%m?ﬁ%lm:

(A)q T T FH H Ehr ot e A
HIEE A H & 9 21 =1 |
(13( TR 91 A= & et e s
- 3ah! R sw afw sRemgt
IR wEhiial & S =iz |
(%) mg@ma@qémm@g
: éﬁ%mﬁmﬁmm%ql
(D)—Td ST MRS S wiraw 3
I T IREE % et g
HigHT =i | w

- You are a constable in a spéciﬁi cell that

deals with cyber crimes and online frauds.
Yqu have been trained in various’ aspects
of cyber security and digital forensics,
Howev:er, due to a shortage of staff, you
are assigned to a patrol duty where you
have to patro] the Streets and respond to
emergency calls. You feel that this is a

oring and mundane task that does not
Suit your expertise. You should -

(A) l"eft.lse to do the patrol duty and
: Insist on staying in the cyber cell.

(B) do the patrol duty reluctantly ang
complain about it to your superiors
and colleagues.

(C) do the patrol duty but constantly
look for opportunity of taking leave.

(D) do the patrol duty enthusiastically

and learn from the experiences of
other patrol officers.

ATV
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120. HfEaT ¥ SemeHR & BRIGH T hi Fig

T G, ATIH! : |
Y e IOf T =i |
difsar w1 =fFa 9 ¥ ey
T 1R | .

() fomm et wfteem gferer <1 ufefyy 3

X STt § A TOET W iy
HTT IR |

@ SeaE iRt & forn argwelt mfen
frdters o wmafa w@ e |

When investigating rape forensic

evidence from victim, you should :
(A) complete documentation alon
with FIR using pseudo-name.
(B) personally interview the victim in
plain clothes to build trust.
-(C) focus on Medical test ruthlessly
~ without any women police present.
(D) transfer to experienced Woman

Inspector without  direct
involvement. .

p@rm'w@%‘wmﬁaﬁﬂwﬁ

'-"V-(]%) :mﬂm RIRE I C ko R -
R Ve = g kA,
FET TifRe '

T T Hi

In the climax stag

unt, you learp your on]
?Ki;fers a debilitating stroke, Youyshrlzzirgn:t

to accompj
deputy for family priority P e
B) Témotely coordip :

Wwithout Opg leade?':li;ertam e

©) conceal news avoiding

till missjon Completion

(D) commit singy]qy focu.s
3t siblings to handle Parent,

n PRI rwve faaalL . PR PN PITLaT

€Xpecting

e o_f a nationwide terror

122. U ferm aAfusmrdl 6 9%, 39 2aa § fe

%3 i STeTEEIH B IS § yam
afere fepam s @1 2 | AT

HETEAl B AT WF | W
ehedT FAT1 FMEY |
(B) Frrmdt = T 1 soqders
T |
(€) W& F FA FA F R g
mmﬁlﬁm?l%ql

(D) FeaEEas e b Afteie
4 -mmﬁﬁwmmm|

As_a police officer, you notice certain

religious  minorities being  denied

neighbourhood entry. You should -

(A) arrest and prosecute housing
societies flouting laws,

(B)  refer complaints to state’s minority
welfare schemes.

(C) organize multi-faith community
dialogues to ease tensions,

(D) enforce diversity by posting
minority community officers.

123. @g%naﬁm%mﬁ,zmﬁam

P T AR F M eftey sk

TR % ST WA By & R
mélm:. ﬁqTé

Fh
ST 1 e e i |
As a police officer, transgender citjzens
report facing harassment ang dignity

violations during law enforce
%rfxxtgractions. You should ;. e

depute gender-rights com

Volunteers for engagements.
(B) Implement  mass sensitizatiop
© drives on appropriate conduct,

~ enforce strict disciplinary actions
against offenders.

(D) . take complaint and forward it to

Munity

noS parer Human Rights Commission,
bl aaal L1 PV CON PN TP AN PITEN T P

PO PR =gy PETTA TR oA LT
TOPPER CHOICE BATCH: “ MATHS VOPBATCH” — CONTAE T 8506003399~ o weoen
4 ' DOWNLOAD “RG VIKRAMJEET” APP TO ENROLL

Scanned with CamScanner



124.

125.

AN PIUN 57 wa, [T

FK-3

.
Join @MathsbyAdityaRanjan Telegram Channel for free PDFs of study materials and latest exam updates i

- ‘ 0

s T 3ttt & 9 A, L L
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B) Rufy ¥ forg w3 Foer
AT T ST i Hgfed
FI |

(©) “gftsdl % A W HaEA 3T
{7 37 STIeH 1 UTeH HET- |

(D) e s g B A H,
o 21 S ey et & faadia & |

As a police officer, what would guide

your decision-making in enforcing laws ?
(A) Strict adherence to the letter of the

law, regardless of individual
circumstances.

(B) Balancing legal requirements with
‘empathy and consideration for the
situation.

(C) Following the orders - of your
superiors without questioning their
judgment, é

(D) Applying personal moral values

- even if they conflict with
established regulations.

T Yo et F &9 8, o w

& | eferftaa & & 3 w1 3q s

e e R Ry

(A) VA T3 T |

(B) whet arftrpr

€) 9fem i

D) Su-wErfrtias -~

As a police officer, you are assigned to a .

police station in a district. Which of the
f'ol_lowing is the name of the offjcer who
I8 In-charge of the police statjop ?

(A) Station House Officer

(B) Circle Officer

(C)  Superintendent of Police

(D) Deputy Inspector General »

FFa M PEULNT VY ETe gy

TATEFA eaey pernp Ty Fa O

126.
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127.

@)

U Yferm srfrhrdl & w9 3 T it
i~ frarer oo waretl # Afeenaii 3 iy o

Hﬁaw%ﬁiﬁwmmﬁl
ATYH |

/(A)/;ﬁ s B A frinft g
EENECRIRIUREC o ST
(B) 3rerercht el 1 Tehm wad 7u T

ffer-famsi & e gresfs =gy
FTUY T T 9 & =fea |

(C) gzl v 38 feufa @ g =nfen | ‘

(D) amefoieh YqE! hi TR B @™
WA g T & 9 JdreA Bl
HagAufiel ST =R |

As a police officer, certain religioﬁs

customs  violate: Supreme Court
directions on entry of women in places
of worship. You should :

enforce  directions by removing
~ opposing groups if necessary.
publicly threaten charges against
~ customs upholding court rulings.
.avoid the _siiuatiop By taking
leaves.

%

D)

sensitize opinion leaders leveraging
spiritual heads’ assistance.

SR (2) % T T 39 e @ |
(B) U

H'T:HET::W:‘? &?
(D) wEw

(A) =95
(© =i

Find suitable alternative in place of
question mark (?).

Mother : Child : : Cloud : ?
(A) Shine (B) Loud
(C) Rain (D) Weather
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o>

T

6

Frafefas wom o wez Ry o § | 3
fawm ® wiegw $o amra fdwan §
T g A faem ) g R |

(A) WA (B) 3@

(© e ) AHT

In the following question, some words
are given. They have some common
features except the odd one. You gare
required to find odd one out.

(A) Annoy (B) Distress

(C) Harass (D) Ravage

e e et # @ vz @) e 53 )
G S T H4T -

Choose the correct alternative from given
ones that will complete the series :

23, 15.9,79.6, 423, 2574, (?)

(A) 5632 (B) 8432

(C) 10300 (D) 18067

T fiffe e wmr § “MADRAS” =)
“"OWNHEQ" feran s 2 | weft e #
“SUNDAY” %! & foreat s 7

In a certain code language “MADRAS”

is written as “OWNHEQ”. How will
“SUNDAY™ be written in that same code ?

‘gﬁ WUZRYX * (BY UWZRYW
P

WUZWYR (D) UWZYWR
ulrz-

131. mmﬁ'/%ﬁraam%,ﬁwagam:ﬁ

Eéﬁﬁsm%aﬂts%rhménaa

(A) 3IW (B) 4d

(U2 (D) fm

e
ra . f)’( rFoe
E*- :iv;

Shygm travels 7 km North, then he turns
to his right and walks 3 km. He again

tumns to his right and moves 7 k
. m
forward. Now in which direction is he

from his starting point ?
(A) North (B) East
(C) South (D) West

TIVA NA PIRL AT Ve v povna

EATIVA M vt AT v Vol

132.

STV rAR AR AL v, MAN ey

19

133.

134,

qrar Y g a1 eh | T, T =5
Wi T foen wp § | s, 1 o
adt & v, ofverer 1wy 3 | Afem,
Wi 1w B | A, g & fEm gEn

wafra § ¢

(A) Sfrarh (B) Iz
(C) wrd \(/D) T
Suresh’s sister is the wife of Ram. Ram
is Rani’s brother. Ram’s father is
Madhur. Sheetal is Ram’s grandmother.
Rema is Sheetal’s daughter-in-law, . Rohit
is Rani’s brother’s son. How is Rohit
related to Suresh ?
(A) - Brother-in-law (B) Son
(C) Brother (D{> Nephew
SETP P TURC_
! ~ - 2 i
afe w1 “SPIRITUAL” & T8¢ 3iv wi=s
AT A WM A # wge fear = 2,
T ThR =Y 3R B3 e w7 =
m%aﬂtﬁ:ﬂmaaaaﬁmm%, Gl
T § e i et Sifegt & 5
ST & e E (1 o a1 9 e B
ITf Fofaren sjEe § §
If'in the word “SPIRITUAL", position of
second and fifth letter is interchanged.
similarly .position of fourth and sinh
le.tter is interchanged with seventh and
ninth letters respectively, then how many
pair of letters in the new word have as

many letters between them i
forward or backward) as they hav, Ve

English alphabet series © € in the
(A) 3 (B) 4
© s D) 6
Th 98t Qs (noon)%mﬂ’sﬁm

2 1459 10 fire w2 )
fhh T

A clock is started at noon. By 10

minute;s
past 4, the hour hand has turmed through
(A) 120° (B) 125
©) 130° (D) 135°

R N T R - N RSV
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135. ﬁm%ﬁaﬁaq@hmawmzﬁaﬂttﬁ% 138. U ufaq § Pl and & 173 st end & 199
WW%,ﬁWﬁﬁvﬂﬁaﬁrﬁﬁ%

fo T WY T I | ¥
Study the following figure and answer H@ fopat 8 7
In a row Mihir is 17" from the left and

the question given below.
I:' _y hftmd / 19" from the right, then what is the total
number of candidates in that row ?

N Trained nurses
/NG O ety | @) 2@ 1
Married population (C) 35 Ma 6

y 2 | A\~ s/

Nurses in hospital

139. U T & rEeh AAH 4 x 3 x 3 FH £ |

don 7 T f’ HIAW 4 x 3 & faqta o A W@

(a) it = M § | 3T AW 4 x 3 % favta wew

() e sffea T e o & M | 3 3 x 3 % frada

(C) arerare ¥ fanfea & T R T A M CE | 7T TN H 1 FH

() e st & W[ AT B w1 § e foran wmar B | W
| fpa B ¥ & R diF Perh T 8 7

- What is represented by the number 7 ?
There is a cuboid whose dimensions are

(A) Trained nurses _
®) Unmarried trained nurses 4 x 3 x 3 cm. The opposite faces of
©) Marrie d nurses in the hospital dimensions 4 x 3 are coloured yellow.

The opposite faces of other dimensions

(D) Married @ained IS~ ok 4 x 3 are coloured red. The opposite
faces of dimensions 3 x 3 are coloured

136, FrefeRaa ¥ @A &1 NG WRd, T, 1 . green. Now the cuboid is cut into small
m%aﬁaﬁéuﬁqa@ o=t atg coiar | cubes of side 1 cm. How many small

cubes have three faces coloured ?

s N\ @A) s ®) 12 - fE

Which of the following diagrams best C) 16 (D) 20 ﬁga

indicates the relation between India, s R

Gujarat, Surat ? | ; : ' |
: | 140, frerfiaa e & ek weg e T B, SE

(A)' )(B) Q ag =R 3 g R e #, Frd @ o fog
' OO T T2 F AR HT ITNT HH TG A

©) O _ : In the following question, a word has
~ " been given, followed by four other
: words, one of which can be formed using

y _ |
137, TA®L: 120+3 +8x3-40=9 the (lietters of the given word. Find that
word. ‘
Solve : 120 + 3+8 Xx3-40= 2 . MEASUREMENT
() 24 ®) -24 A) ASSURE ~ (B)o SUMMIT
(C) -256 D) 74 - MTUNES (D) MANTLE

PONPSTLNTTTR PTS PITLOTEVE AN PITLNTY Pl *2ey Lt 2N P DTN (,.ﬂ,}m,;a.-ravt FONPITLNOIYR B PO TR VA ORI & POANPIITANTEV R AN IROLANC YR
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o A u gefd ST % U
FT P ARG FO H1 @ FE I
frfafea faam g € -

(1) FTIFSAYEQATR |

(2) IS 987 WHHTH BT 2 |

(3) WU 37k YA 3ich A3 FAME |
(4) e i gEt 3 T AR |
e, 7 Rl w fem +@ g, amfe
3 TN % fore = w @i R wie

frenfia forn 2 | Sugea 1 var e |

A scientist is trying to recall the access

code to a secure laboratory. He

remembers the fo!lowing details :
(1) The code starts with the digit 5.
(2) The code ends with 987,

(3) The second digit is the sum of the
first digit and 3.

(4) The third digit is half of the second
digit.

Now, considering these conditions, the

scientist has narrowed down four

potential access codes for the laboratory.

Find the suitable one.

(A) 542987 (B) 584987

(C) 563987 (D) 548987

21

142, < T 1 2 FaE A ITE AR | 41 5w

(11 wwifRa €= ﬁW‘ffZ"’W?" | AT

et 3 & rd woft ATl P H e 3

fige <fiit Frapeit o ek A fem g 3

e Fvia S 2 Fo 3 B /8

ﬁanémfrﬁzfaa’mﬂmaﬁm

=9 B STE Fa /a2 /7 |

%Y : .

[ 9 @ Y SRR AE E, IE
HTFTH g 2 | ) )

1. M 9 A 9@ 2, N TE
gl o e w2 |

foreaned

I. 9 - 2| .

1. M e fafire gt 4 difma gmr 2 1

Il ¥H Y& &9 | qEES a5
T I TTTed ST 2 |

(A) aa frerd | STTET FTE@T R |

(B) haet fysh 1 1FHTI AT 2 |

(C) ISR II SHI STTET Hd 2 |

(D) 13RI QHT STTE0 Hd 2 |

In the question below two statements

followed by three conclusions numbered

I, IT and III are given. You have to

assume everything in the statements to

be true, then consider the three

conclusions together and decide which of

them logically follows beyond a

reasonable doubt from the information

given in the statements.

Statements :

I.  Water has no shape, has volume.

II. The knowledge is like water,
flowed from one side to other.

Conclusions :

I.  The knowledge is interdisciplinary.

II. The knowledge is bound within a
specific area.

III. The knowledge influences the core
of mental activity directly.

(A) Only conclusion I follows.

(B) Only conclusion II follows.

(C) BothIand Il follow.

(D) Both I and III follow.

VN PN A T VA SO POWLATIN A SO ASWLATIFV A AU PORLA TRV SO e T AT YR
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144.

145.

<y A ) frveral-Sert € |

Choose the alternative which clo_S:clz
resembles the mirror 1mage of the gl

combination.

R4AQ16HI
3 THoIOAMAH

“{6[QAhﬂﬂ
IHIIQARAH
TH9IOAMIH

x) # fag T gFS! A
(ﬁa#{zﬁmﬁ*

(B)
©)
(D)
qar & f6 ST
1), (2), (3) 3 (@)
TS 1 ThelT @ |

Find out which of the figures (1), (2), (3)
and (4) can be formed from the pieces

iven in the figure (X).
AN HAS
3 @

X) M @
A M B) (@)
© @ D) @
<R fahedt A & var s fon umestt sfie
forgam v w ey w e & fewrd 2m o
Find out from amongst the four
alternatives as to how the pattern would
appear when the transparent sheet is

folded at the dotted line.

146.

PN PO I,

FK-3

Oiv Q| @ O

<i0| i ©

@
(=)

p——————-——
————————
-

O ———

=)

X) i
@A) (1) ® @
© 3 (D) @)
A,BHRIEg21C,BHInid | D, CH

FmR1E, DR 1A, DIAF
Hafuq R 7

Aa) <@ (B) T
€) =& (D) Ut

Ais B’s sister. C is B’s mother. D is C’s

father. E is D’s moth :
related to D 2 other. Then how is A

(A) Grand mother
(B) Grand father
(C) Daughter

(D)  Grand daughter

X6 @

147.

148.

149.

150.

frferfd & 8 g g 4 o
1&g 1 HIGF T gy - <% Y
1. Peag
3. fem
5. $MH A
Which of the follgyjy.
meaningful order of the
1A Exhaust

3. Day

5. Work

(A) 1,3,5,4,2

2. m
4. e

./7
o

)

\
o;':tion would e
following words ?
2. Night
4. Sleep

(B) 3,5,1,
5, 1,42 (D) 3,5,2,
g AP A A AT F = 2 |
Choose the figure which is different from
the rest.

| Y o o
LI

I I | S |
&)

(2 () @
A @)
© @)

®B) @

D) @
T Tt A Al ) de «) e e E
STt 8 | AfE TRl T He H FEi § WS
B, @ IR0 e o) ot 7 '
(A) 38fire B) 47fme
(C) 55fme 59 fire
The number of apples in a basket

doubles every minute. If the basket is full

of apples in an hour, when was the
basket half-filled ?

(A) 38 minutes
(C©) 55 minutes

2,4
1,4

L E\
I
)

(B) 47 minutes
(D) 59 minutes

TEAF: 108+ 36 x - + = x 34
4 5 4
o 1 2 1
Sl l : + F i = x s
mplify : 108 36>\4+5\:4
a) 1-- B) 24
20 20
1 1
C) 2- D) 2—
( 5 @ 2
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This booklet =

contalns 24 Fages Question Booklet

klet until you are asked to do so0.

/ =
Do not open this Question Boo
e of this booklet.

| Read carefully the instructions on the coverL P22

——

Allowed Time : 120 Minutes

-
Maximum Marks : 300

It is not necessary t0 match the Question Booklet No. and OMR No. It can be different.

1.

-~
r

3.
4.

o »

e
Read the following instructions carefully :

After receiving the OMR Answer Sheet when you are directed, fill in the particulars carefully with plue/black ball

point pen only in OMR Answer Sheet,

The test is of 120 minutes duration and consists of 150 objective type questions.
answer. 0.5 marks will be deducted for each wrong answer,

Use Blue/Black Ball Point Pen only for writing particulars on this page and marking responses in the Answer Sheet.
Make sure that the Question Booklet No. marked by you on the (OMR) Answer Sheet is the same as that on this

Booklet, The Question Booklet No. is given on top left side of cover page.
Rough work should be done only in the space provided in the Question Booklet.
The answers are to be recorded on the OMR Answer Sheet only. Mark vour responses carefully. No whitener / eraser /

Blade is allowed for changing answers.
After opening the Question Booklet, please immediately ensure that the Question Booklet contains as many number of

pages as written on the top of this page. Also ensure that no page or question is misprinted, torn or left blank. If any

discrepancy is found in question booklet, show it to Invigilator and get it replaced.
Candidate shall not remove any page(s) from the Question Booklet and if any page(s) is/are found missing from his/her

Question Booklet, he/she may be liable for suitable action.
Out of the four alternatives for each question, only one circle for the correct answer is to be darkened completzly with

Fach question carry 2 marks for correct

9.

Blue/Black Ball Point Pen on the OMR Answer Sheet. The answer once marked is not liable to be changed.

10. The candidates should ensure that the Answer Sheet is not folded. Do not make any stray marks on the Answer Sheet.
Do not write your Roll No. anywhere else except in the specified space in the Answer Sheet.

11. Handle the Question Booklet and Answer Sheet with care, as under no circumstances (except for discrepancy in
Question Booklet) another set will be provided.

12. The candidates Wi (| write the correct Question Booklet No. as given in the Question Booklet in the Attendance Sheet.

13. Each candidate must show on-demand his/her Admit Card to the Invigilator.

14. No candidate, withcut special permission of the Superintendent of Invigilator should leave his/her seat.

15. The candidates should not leave the Examination Hall without handing over their Answer Sheet to the Invigilator on
duty. Cases where a candidate has not signed on the Attendance Sheet will be deemed not to have handed over the
Answer Sheet and dealt with as an unfair means case.

16. Use of Pencil, Calculator, Mobile Phone, Bluetooth device or any other electronic gadget in the Examination Hall is
strictly prohibited.

17. The Question in the Question Booklet will be in Hindi & English except General Hindi. If there is a difference between
the Hindi and English versions OR if any confusion arises in Hindi Version of the question, please refer only the
English Version. English Version will be considered as authentic.

18. Candidate must abide by the . instructions issued by Board/Invigilator. Any act related to using of unfair means or
prohibited devices, impersonation, indiscipline, misbehaviour and indulgence in any undesirable act, in examination
hall, will lead to cancellation of candidature, Jdebarment from future examinations and may include initiation of crimi
proceeding. ’ .

19. Candidate should submit the OMR sheet as it is intact as after completion of exam, t0 the Invigilator. After that
Invigilator will tear, separate and handover candidate copy of OMR sheet to the candidate and candidate would only be
allowed to leave the examination hall carrying that candidate copy. Candidate is allowed to take away the Question Booklet.

Name of the candidate (In Capitals) : ' R

Roll Number : In figures :

Centre of Examination :

Candidate’s Signature :
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